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Cpabrume
a) 12,51 12,500
A N\
12,500 = 12,500
12,5 = 12,500
6) 10,031 >10,03 e) 2,05< 2,500
10,031 > 10,030 2,050 < 2,500

B) 1,523< 1,6 ) 14,02 = 14,0200
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Bouipasume:
a) B MeTpax 1m 25cMm; 7M 9cMm; 34cm
1M =100¢eMm /v 9cm=7,09m
Tm 25cm=1,25m 34cm=0,34m

B) B TOHHaX 5T 12Kr; 32Kr; 2T 102Kr
1u =1 - 32kr=0,032T
51 12Kr=5,012T 27T 102kr=2,102kr
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Ilepebedume:
a) 5,7Kr="r ) 2555r="Kr
©) 3,02T= 3020kr e) 600Kr=6.60T =0,600T
B) 2,9KM= 2900Mm ) 10850M= 10,850kMm

) 0,41U= 4 4xr =41kr |3) 254Kr= 2547

a) 1kr=1000r a) 1kr=1000r
5,7kr=5700r 2555r=2,555Kr
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